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𝑥 =
(2200𝑔𝑟)($196.00)

1600𝑔𝑟

𝑥 = $269.50

 

$2300.00

𝑥
=

100%

20%

𝑥 =
($2,300.00)(20%)

100%

𝑥 = 460.00

$2,300.00 − $460.00 = $1840.00 

 

1𝑐𝑚

13𝑐𝑚
=

5𝑘𝑚

𝑥

𝑥 =
(13𝑐𝑚)(5𝑘𝑚)

1𝑐𝑚

𝑥 = 65𝑘𝑚
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25 𝑎𝑙𝑢𝑚𝑛𝑜𝑠 → $300.00

20 𝑎𝑙𝑢𝑚𝑛𝑜𝑠        →        𝑥

20 𝑎𝑙𝑢𝑚𝑛𝑜𝑠

25 𝑎𝑙𝑢𝑚𝑛𝑜𝑠
=

$300.00

𝑥

𝑥 =
(25 𝑎𝑙𝑢𝑚𝑛𝑜𝑠)($300.00)

(20 𝑎𝑙𝑢𝑚𝑛𝑜𝑠)

𝑥 = $375.00

 

3 𝑓𝑢𝑔𝑎𝑠 → 4 𝑑í𝑎𝑠 → 4,000 𝑙𝑖𝑡𝑟𝑜𝑠

6 𝑓𝑢𝑔𝑎𝑠    →     5 𝑑í𝑎𝑠     →      𝑥
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(
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6 𝑓𝑢𝑔𝑎𝑠
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5 𝑑í𝑎𝑠
) =

4,000 𝑙𝑖𝑡𝑟𝑜𝑠

𝑥

12

30
=

4,000 𝑙𝑖𝑡𝑟𝑜𝑠

𝑥

𝑥 = 10,000 𝑙𝑖𝑡𝑜𝑠
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4 − 2
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6𝑥 − 2𝑥3

 

(5𝑥 − 𝑦)(3𝑦 − 𝑥)

(5𝑥)(3𝑦) + (5𝑥)(−𝑥) + (−𝑦)(3𝑦) + (−𝑦)(−𝑥)

15𝑥𝑦 − 5𝑥2 − 3𝑦2 + 𝑥𝑦
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𝑥 =
−7 ± √72 − 4(1)(10)

2(1)
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−7 ± √49 − 40

2
=

−7 ± √9
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{
𝑥 + 𝑦 = 25
𝑥𝑦 = 127

} 𝑥(25 − 𝑥) = 144,

𝑥2 − 25𝑥 + 144 = 0 𝑥1 = 9   𝑦     𝑥2=16
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 4 m

 3.5 m

 4.5 m

 3 m

 

24 √3 𝑚

24 √2 𝑚

𝑠𝑒𝑛 𝜃 =
𝐶𝑂

𝐻
      ∴           𝐻 =

𝐶𝑂

𝑠𝑒𝑛 𝜃
=
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𝑠𝑒𝑛 60
=
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√3
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= 24√3  𝑚
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mailto:juven68@hotmail.com
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http://html.rincondelvago.com/problemas-juveniles-e-iglesia.html
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661𝑥 − 100𝑥2 + 4𝑥3

616 − 100𝑥 + 4𝑥2

28𝑥 − 4𝑥2

5 − 12𝑥 − 4𝑥2
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http://www.muyinteresante.es/salud/articulo/la-melatonina-aumenta-la-produccion-de-grasa-buena-y-ayuda-a-adelgazar-911378813644
http://www.muyinteresante.es/salud/articulo/dormir-poco-mal-o-a-deshoras-nos-predispone-a-enfermar
http://www.muyinteresante.es/salud/articulo/dormir-poco-mal-o-a-deshoras-nos-predispone-a-enfermar
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http://www.cosdac.sems.gob.mx/
http://www.dgeti.sep.gob.mx/
http://www.dgeta.sep.gob.mx/
http://www.dgecytm.sep.gob.mx/
mailto:victor.rojas@dgecytm.sems.gob.mx
http://www.cbachilleres.edu.mx/
http://www.dgb.sep.gob.mx/
mailto:Jaime.ayala@dgb.sems.gob.mx

